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1) Medicinesare more effective, if they are 5) India’s largest multi-purpo
used in a) Nagarjuna Sagar
a)gaseousstate b) Damodar Valley
b) colloidal state
c) solid state

d) solution state
Ans-B

2) Which sector of the Indian Economy
contributed largest to the Gross National
Product (GNP)?

a) Primary Sector

b) Secondary Sector
) ‘ 7) Akbar founded the Din-i-llahi primarily to
¢) Fublie cector (a) Establish 2 national religion which would be acceptable
d) Tertiary Sector to the Muslims and the Hindus
Ans - A (b) Ensure racial and communal harmony

(c) Found a rcligious ingtitution

3) Internal energy of gaside
a) Pressure._

b) Temperatu
c) Volume

(d) Put an end to differencesbetween Hindus and Muslims
Ans- A

8) Name the Rajput General who bravely fought the
Battle of Khanwa before losing to Babar.

(a) Rana Man Singh

(b) Raja ai Sngh

(c) Rana Sanga

(d) Rana Pratap

Ans-C

9) Which one of the following pairsis correctly
c)e matched?

d) nucleus (a) Ziauddin Barni — Tarikh-i-M uhammadi
Ans-B
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(b) Amir Khusrao - Tabgt-i-Nasiri (c) Off the coast at Rameshwaram

(c) lon Batuta — Fatwa-i-Jahandari (d) Nowhere

(d) Shams-i-Sraj Afif — Tarikh-i-Feroze Shahi Ans-C

Ans-D 15) Which shipyard is known for the
manufacture of bargets, coastersarid

10) The rockcut temples of Mahabalipuram

were built under the patronage of the dredgers?
{a) CholaKings (a) Hindustan Shipyard
(b) Pallava Kings (b) Mazgaon Shipyard

(c) Garden Reach Shi'_pvaf-d

(d) Satavahana Kings (d) Cochin Shipyard
Ans-B Ans-C

(c) Pandya Kings

16) Which one of the followi netsis said
to be Hiwrin eig i

11) Riparian forest is found:
(a) along the banks of rivers and other wetland

(b) the tarai region, on the foot hills of [ e
Himalayas ’;\rﬁ&—&mm. =
(c) on the foot hills of Eastern slope of Western ...
Ghats .

(d) on the foot hills of Eastern slope of Eastern

Gnats erfect black body has the unique

Ans - A aracteristic feature as

12) Most of India's rainfall is: ) agood absotber only

(a) cyclonic ‘ b) agood radiator only

(b) convectional c) agood absorber and a good radiator
(c) elusive d) Neilher an absorber nor radialor

(d) orographic . Ans-C

18) Cavitation is a special application property
exhibited only by

a) audible sound

b) infrasonic

¢) ultrasonic

d) electromagnetic waves

Ans-C

19) Why laser is used in the pipe alignment?
a) They are directional in nature

n b) They are coherent
(a) Off the Bengal coast c) They are monochromatic

(b) Off Kerala coast d) None of the above
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Ans - A 25) The image from by an object of a
20) Which one of the following common compound microscope is
devicesworks on the basisof the principle of a) Virtual and enlarged

hfituel induction? b) Virtual and diminish

a) Tubelight ¢) Real and diminish

b) Transformer d) Real and enlarged

c) LED Ans - D

d) Photodiode 26)W hich one of the following elg
Ans-B essential for construction is nucle
21)Optical fibre mainly used in communication a) Cobalt

isbased on b) Nickel

a) Less absorption coeificient ¢) Zirconium

d) Tungsten

b) Less scattering

¢) Total internet reflection
d) Refraction

Ans-C

22) If there was were no gravity , which of th
following will not be there for a fluid ?

nt law wasgiven by—

a) Viscosity
b) Pressure
c) Archimeds's upward thrus
28) The structure of ethylene is—
d) Surface tension
Ans-B
23) Past offigg box ifsa di
resistant baé*@’%.prﬁiﬁﬁ’p
a) PoteniometeF

a) linear
b) tetrahedral
c) octahedral

d) triangular

Ans-D

29) Which one hashydrogen bonding?
a) HCI

b) HBr

c) HF

d) HI

Ans-C

30) Water solution base is called—
o) H a) Acid

d) Bernoulli's law b) Salt

Ans - A c) Alkali
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d)None b) India and Afghanistan

Ans-C c) Afghanistan and Pakistan

31) BOD is _ d) Afghanistan and Tajikistan

a) Biological oxygen deficit Ans-C

b) Biosphere oxygen demand 36) which two countrieswere involvesin

¢) Biological oxygen demand Hundred YearsWar 2

d)None of the above a) Turkey and Austria

Ans-C b) England and France

32) Bhopal gastragedy wasdue to — c) Palestine and Isra%;};

a) Air pollution d) Germany and Russia

b) Soil pollutian Ans - B

¢) Water pollution 37) Which of the tollowing states isnot likely
to benefit darSarovar Project ?

rom t

d) Nine of the above

a) Andhra Pre
Ans - A } figih

33) Which pollution causes jaundira

a) Water

b) Air

c) Hand

d)Th al e sale proceeds of the Government
) Iheirm nds come under the budget head of

Ans- A

a) Revenue Receipts
b) Current Expenditure
c) Capital Qutlay

34)Double helix model of DNA s given

a) Mullar

b) Meghnatt%ga d) Capital Receipts
c) Stepham Hawkin: Ans-D

G\ a[?ﬂj{:ﬁéi: 39) Which of the following are not fixed costs ?

a) Renl on land
ish:whisivorthe b) Municipal taxes

c) Wages paid to workers

d) Insurance charges

Ans-C

40) If woolen cloth of red colour isseen in the
light of a mercury vapour lamp, then the cloth

: will appear
W hich countries are linked by the Khyber a) Black
Pass? b) Red
a) India and Pakistan ¢) Green
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d)Blue
Ans - A

M athematics Questions
Paper:

1) The difference between two positive
numbersis 3. If the sum of their squaresis 369,
then the sum of the numbers is

a) 81
b) 33
c) 27
d)25
Ans-C

2) Amanrowsaboat 18 km in 4 h downstream
and returnsupstreamin 12 h. the speed of the
stream (inkm/h)is

a1
b)1.5
c)2
d)1.75
Ans-B

3) A certain sum amount to g@gﬁi 2
8% per annum compound interest, thgsu

a) Rs 5000
b) Rs 5200
¢) Rs 5280
d) Rs 5400 -

 two sugar solution of the

Ans - A
5) The height of a right circular cone is B4 cm
and its base radiusis 3.5. its volume is

Downloaded from
a) 3234 cm’

b) 1078 cm®

¢) 2156 cm®

d) 2496 cm’
Ans-B

6) Average age of A, Band Cis 36 yr. if @
age of Band Cis 30 yr and age 6f B fé*xQE y
what is the sum of the agesot A N

a) 68 yr

b) 86 yr
c) 58 yr
d) 61 yr
Ans-B L
pen of five digits is exactly

) (2sin® 30° — 3 cos” 45° + tan® 60°) =?
a) 1

b) 2

c) 4

d)5

Ans-B

9) How many diagonalsdoes a regular polygon
of 15 sides ?

a) 60
b) 64
c) 90
d) 50
Ans-C

10) Expenditure onrent on rentis morethanis
mere than Lhal on miscellaneous purpose by

a) 62.5%
b) 75%
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c)251/3% d) Gain 3%

d)426/7 % Ans- B

Ans-D 16) If X* +5x — 2k,is exactly divisible by (x — 1),

11) Aman walking with % of his usual speed, thenthe velue ot kis

reaches office 20 min late. Hisusual time is a)i

a) 50 min b) 2

b) 80 min c)3

c) 70 min d) 4

d) 60 min Ans-C

Ans-D 17) The perimeter of 1 fa .it's
volume is

12) The average of 7 consecutive numbersis 20.
The largest of these numbersis a)115cm’®

a)24 b) 125 am’
b)23
c)22
d) 20 Ang- B
Ans-B :

13) If {a—1)® + (b+ 2)* +(c+1)" = then the value
of a-b +cis

obtwo numbers xand y isequal to
¢, then value of y will be

a)lz
b)3
c)—11 d) negative number
d)1 Ans - A
Ans-D 19) If 8" +7=250, then x is equal to
14) If p =3/5, G'S719. 1 = fthe a) 1
following inequarnty | b) 2
a) p=qs<r 03
bla<rsiy )5
C) p<r<q Ans-B
d)r<gép™ 20) HCF of 2 —y2 and X' —y is

nss ajx—y
15) By sel ling'an article for Rs 31 a shopkeeper b) x® —y°

%. It he sellsthe article for Rs 35, then .
what ig gain or loss per cert? c) "=y
s 3% d) (x+ )"+ xy +y°)

b) Gain 5% Ansi=A
o) Loss 5% 21) Find the place value of 4 in 46127.
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Which number will come at the place of D?
(a)1262

(b) 550

(C) 500

(d) 462.5

(e) None cf the above

Ans - A

31) The average age of 30 studentsis 9 yr. If
the age of their teacher isincluded, it becomes
10 yr. the age of the teacher (in yr) is

a)27
b) 31
c) 35
d) 40
Ans-D

32) The average of 50 numbersis 38. If two
numbers, namely 45 and 55 are discarded. the
average of remaining numbersis

a) 36.5

b) 37

c) 375

d) 37.52 *
Ans-C
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33) The average of 11 observationsis60. If the
average of first five observations is58 and that
of the last five is 56, then the sixth observation

is

a) 90
b)110
c) 85
d) 100
Ans - A

34) The average of Qﬁo nup
number isN, then the ot

rage age of aclassis 15.8 yr. the
ge of the boysin the classis 16.4 yr
that of the girlsis 15.4 yr. what isthe

t boys to girls in the class?

d) None of these
Ans—D
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(a) 4 (e) None of the above

{b) 400 Ans-D

(c) 40000 26) 16, 14, 24, 66, 250, 1270
(d) 4000 (a) 250

(e) None of the above (b) 66

Ans-C (c)16

22) The sum of the four consecutive even (d) 1270

numbersis 284. What would be the smallest (e) None of the above
number? Ans- A

(@72 27) 22, 23, 27, 36, 58, 77

(b) 74 (a) 77

(c) 68 (b) 58

(d) 66 (c)36 L
(e) None of the above (S!) e

ANS =g ?‘eg)‘e #the ab

23) Find the sum of 1st and 2nd prime
numbers.

49 134326817 ABCDE

(@5 _ )
mber will come at the place of E?
(b) 3
3
€7
- ) 4782
( _ ® (c) 4841
(e) None of the above
(d) 4932
Ans- A
(e) None of the above
24) Find the ¢ ifferg,ngg of > value of 4 and
face value of 3 in 378410/ Arasl
(2) 3997 29) 9 57 337 1681 6721
byt TA-BCDE . |
(¢) 1000 W hich number will come from the following at
place of E?
(d) 3845
(a) 673
(e) N
(b) 3361
ns
(c) 13441
25) Th er of all prime numbers lessthan
(d) 17
(a1 (e) None of the above
8 Ans - E
(017 30) 12751307 13711467 1595 1755972 ABC
DE
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